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Research Problem: Research's Main Problem

Ghobad Mansoorbakht
Assistant Professor, Department of History
Faculty of Letters and Human Sciences, Shahid Beheshti University

Abstract

Extension of higher education and the development of science in recent years have
led to an increase in the quantity of research; however, the quality hasn't
developed proportionately. The reason is that in so. many research projects and
also educational theses, there are critical problems and deficiencies in observing
the rules and principles of research methodology; especially from the theoretical
point of view. The finding of this research indicate that the root of the problem lies
in conceptual vagueness and confusion in research methodology; the reason being
inadequate and inefficient learning process in this regard.
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